SB037-24 Rhodes Jordan Trail Connection

	eeri	

					Construction, LC		onstruction LC	0 11	Development Inc.
ITEM NO.	ITEM DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	WARRANTIES AND BONDS	1	LS	\$17,675.00	\$17,675.00	\$10,390.35	\$10,390.35	\$20,350.00	\$20,350.00
2	MOBILIZATION ALL INCLUDED PER PLANS AND SPECS	1	LS	\$5,000.00	\$5,000.00	\$4,422.90	\$4,422.90	\$14,005.20	\$14,005.20
3	TRAFFIC CONTROL (GDOT 150-1000)	1	LS	\$24,885.00	\$24,885.00	\$15,491.76	\$15,491.76	\$21,395.35	\$21,395.35
4	DEMOLITION . ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO HAUL OFF, RAIL, RAILROAD TIES, REMOVAL OF RAILROAD BALLAST, TREE REMOVAL, CONCRETE LOADING DOCK, INVASIVE REMOVAL & BRUSH CLEARING)	1	LS	\$76,006.63	\$76,006.63	\$38,184.54	\$38,184.54	\$58,649.51	\$58,649.51
5	GRADING COMPLETE (GDOT 210-0100)	1	LS	\$330,328.03	\$330,328.03	\$456,282.12	\$456,282.12	\$296,995.94	\$296,995.94
6	SURVEYING. ALL INCLUDED PER PLANS AND SPECS	1	LS	\$14,000.00	\$14,000.00	\$6,326.98	\$6,326.98	\$12,925.00	\$12,925.00
7	CONSTRUCT AND REMOVE CONSTRUCTION EXITS (GDOT 163-0301)	3	EA	\$1,300.00	\$3,900.00	\$2,036.08	\$6,108.24	\$2,698.72	\$8,096.16
8	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP (GDOT 163-0550)	1	EA	\$250.00	\$250.00	\$189.29	\$189.29	\$308.00	\$308.00
9	TEMPORARY SILT FENCE, TYPE A (GDOT 171-00010)	2,230	LF	\$3.50	\$7,805.00	\$1.34	\$2,988.20	\$2.65	\$5,909.50
10	TEMPORARY SILT FENCE, TYPE C (GDOT 171-00030)	400	LF	\$3.50	\$1,400.00	\$3.54	\$1,416.00	\$5.19	\$2,076.00
11	MAINTENANCE OF TEMPORARY SILT FENCE, TP A (GDOT 165-0010)	2,230	LF	\$0.50	\$1,115.00	\$0.01	\$22.30	\$1.02	\$2,274.60
12	MAINTENANCE OF TEMPORARY SILT FENCE, TP C (GDOT 165-0030)	400	LF	\$0.50	\$200.00	\$0.01	\$4.00	\$2.11	\$844.00
13	CONSTRUCT AND REMOVE COMPOST FILTER SOCK, 18 IN (GDOT 163-1930)	20	LF	\$12.00	\$240.00	\$13.67	\$273.40	\$17.99	\$359.80
14	MAINTENANCE OF COMPOST FILTER SOCK (ALL SIZES) (GDOT 165-1500)	20	LF	\$6.00	\$120.00	\$0.01	\$0.20	\$2.11	\$42.20
15	CLEARING & GRUBBING (GDOT 201-1500)	1	LS	\$25,000.00	\$25,000.00	\$14,880.70	\$14,880.70	\$53,460.00	\$53,460.00

16	BARRIER FENCE (ORANGE) 4FT (GDOT 643-8200)	3,294	LF	\$2.00	\$6,588.00	\$1.38	\$4,545.72	\$4.11	\$13,538.34
17	GR AGGR BASE CRS, 8 INCH, INCL MATL (GDOT 310-5080)	1,833	SY	\$23.00	\$42,159.00	\$17.74	\$32,517.42	\$59.85	\$109,705.05
18	GR AGGR BASE CRS, 4 INCH, INCL MATL (GDOT 310-5080)	27	SY	\$12.00	\$324.00	\$17.57	\$474.39	\$59.85	\$1,615.95
19	CONCRETE SIDEWALK, 6 IN (GDOT 441-0106) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	1,600	SY	\$66.00	\$105,600.00	\$61.39	\$98,224.00	\$58.30	\$93,280.00
20	CONCRETE SIDEWALK, 4 IN (GDOT 441-0104) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	40	SY	\$44.00	\$1,760.00	\$48.11	\$1,924.40	\$82.10	\$3,284.00
21	POROUS PVMT, CLASS 3 CONC. 6 IN THK (GDOT 439-0300) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	233	SY	\$95.00	\$22,135.00	\$80.74	\$18,812.42	\$61.62	\$14,357.46
22	CONCRETE HEADER CURB, 6 IN, TP 2 (GDOT 441-5002)	75	LF	\$22.00	\$1,650.00	\$17.04	\$1,278.00	\$44.09	\$3,306.75
23	BRICK PAVERS ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, MORTAR)	783	SF	\$30.00	\$23,490.00	\$23.97	\$18,768.51	\$25.45	\$19,927.35
24	STORM DRAIN PIPE, 18 IN H 1-10 (GDOT 550-1150)	380	LF	\$75.00	\$28,500.00	\$63.24	\$24,031.20	\$121.44	\$46,147.20
25	TRENCH DRAIN. ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE ENCASING, INLET/OUTLET (WALLS), BRACKETS	25	LF	\$250.00	\$6,250.00	\$496.23	\$12,405.75	\$1,184.92	\$29,623.00
26	STORM SEWER MANHOLE, TP 1 (GDOT 668-4300)	4	EA	\$5,000.00	\$20,000.00	\$2,083.75	\$8,335.00	\$8,205.89	\$32,823.56
27	CATCH BASIN, GP 1 (GDOT 668-1100)	1	EA	\$10,000.00	\$10,000.00	\$2,102.01	\$2,102.01	\$7,240.97	\$7,240.97
28	ADJUST MANHOLE TO GRADE (GDOT 611-8050)	1	EA	\$1,000.00	\$1,000.00	\$2,713.98	\$2,713.98	\$2,200.00	\$2,200.00
29	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9 (GDOT 636-1033)	15	SF	\$25.00	\$375.00	\$31.19	\$467.85	\$33.23	\$498.45
30	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11 (GDOT 636-1036)	50	SF	\$25.00	\$1,250.00	\$31.19	\$1,559.50	\$32.07	\$1,603.50
31	GALV STEEL POSTS, TP 7 (GDOT 636-2070)	110	LF	\$15.00	\$1,650.00	\$13.29	\$1,461.90	\$22.15	\$2,436.50
32	PREFORMED PLASTIC SOLID PVMT MKG, 8 IN, WHITE, TP PB (GDOT 657-1084)	100	LF	\$8.18	\$818.00	\$9.24	\$924.00	\$11.37	\$1,137.00
33	PREFORMED PLASTIC PAVEMENT MARKING, WORD TP 1, TP PB (GDOT 657-5003)	6	EA	\$1,598.84	\$9,593.04	\$489.94	\$2,939.64	\$453.75	\$2,722.50

34	PREFORMED PLASTIC SOLID PVMT MKG, 5 IN, YELLOW, TP PB (GDOT 657-6054)	120	LF	\$6.70	\$804.00	\$7.57	\$908.40	\$7.00	\$840.00
35	PREFORMED PLASTIC SKIP PVMT MKG 5 IN., YELLOW TP PB, TP PB (GDOT 657-8045)	1,000	LF	\$3.80	\$3,800.00	\$4.30	\$4,300.00	\$5.25	\$5,250.00
36	PREFORMED PAVEMENT MARKING, SYMBOL, TP 4 (GDOT 652-0094)	4	EA	\$282.70	\$1,130.80	\$319.28	\$1,277.12	\$453.75	\$1,815.00
37	WAYFIND SIGN ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES	2	EA	\$1,000.00	\$2,000.00	\$8,498.38	\$16,996.76	\$4,052.40	\$8,104.80
38	GRANITE RUBBLE WALL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION (2' BY 2.5' CYLINDRICAL), FINISHES	1	LS	\$15,000.00	\$15,000.00	\$6,507.96	\$6,507.96	\$27,500.00	\$27,500.00
39	BENCH (GDOT 754-5000)	2	EA	\$1,500.00	\$3,000.00	\$1,956.46	\$3,912.92	\$1,785.99	\$3,571.98
40	WASTE RECEPTACLES (GDOT 754-4000)	1	EA	\$2,000.00	\$2,000.00	\$1,991.79	\$1,991.79	\$2,357.33	\$2,357.33
41	HANDRAIL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES, PRIMER & PAINTING	150	LF	\$200.00	\$30,000.00	\$182.24	\$27,336.00	\$71.50	\$10,725.00
42	ORNAMENTAL FENCE (GDOT 643-8300)	425	LF	\$40.00	\$17,000.00	\$47.73	\$20,285.25	\$44.00	\$18,700.00
43	LIGHTING POLE ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, LUMINARE, WIRING, CONDUITS, CONNECTIONSCITY WILL PROVIDE TP 2 PULL BOXES, CONTRACTOR TO INSTALL.	13	EA	\$7,498.00	\$97,474.00	\$9,714.87	\$126,293.31	\$8,244.50	\$107,178.50
44	CABLE, TP RHH/RHW, AWG NO 12 (GDOT 682-1503)	960	LF	\$0.75	\$720.00	\$1.11	\$1,065.60	\$0.83	\$796.80
45	CABLE, TP RHH/RHW, AWG NO 6 (GDOT 682-1506)	2,755	LF	\$1.80	\$4,959.00	\$3.13	\$8,623.15	\$1.98	\$5,454.90
46	CABLE, TP RHH/RHW, AWG NO 1 (GDOT 682-1510)	15	LF	\$3.80	\$57.00	\$7.65	\$114.75	\$4.18	\$62.70
47	CONDUIT, NONMETAL, TP-2, 1 IN (GDOT 682-6235)	1,160	LF	\$7.30	\$8,468.00	\$7.49	\$8,688.40	\$8.03	\$9,314.80
48	CONDUIT, NONMETAL, TP-2, 3 IN ALL INCLUDED PER PLANS AND SPECS	55	LF	\$11.20	\$616.00	\$13.19	\$725.45	\$12.32	\$677.60
49	DIRECTIONAL BORE - 3 INCH (GDOT 682-9950)	55	LF	\$175.00	\$9,625.00	\$34.26	\$1,884.30	\$192.50	\$10,587.50
50	DETECTABLE WARNING SURFACE (GDOT 999-5200)	60	SF	\$30.00	\$1,800.00	\$0.01	\$0.60	\$36.14	\$2,168.40
51	SOD (GDOT 700-9300)	1,762	SY	\$9.50	\$16,739.00	\$9.91	\$17,461.42	\$12.10	\$21,320.20
52	MULCH (GDOT 163-0240)	12	TN	\$280.00	\$3,360.00	\$0.01	\$0.12	\$543.40	\$6,520.80
53	AGRICULTURAL LIME (GDOT 700-7000)	1.15	TN	\$250.00	\$287.50	\$0.01	\$0.01	\$632.50	\$727.38

54	FERTILIZER MIXED GRADE (GDOT 700-8000)	0.2	TN	\$500.00	\$100.00	\$0.01	\$0.00	\$2,640.00	\$528.00
55	FERTILIZER NITROGEN CONTENT (GDOT 700-8100)	29	LB	\$8.00	\$232.00	\$0.01	\$0.29	\$9.90	\$287.10
56	EROSION CONTROL MATS, SLOPES (GDOT 716-2000)	1,230	SY	\$2.50	\$3,075.00	\$1.42	\$1,746.60	\$1.42	\$1,746.60
57	WEED CONTROL (GDOT 725-0010)	1	LS	\$2,000.00	\$2,000.00	\$2,303.35	\$2,303.35	\$5,500.00	\$5,500.00
58	EVERGREEN TREE 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$1,000.00	\$10,000.00	\$804.07	\$8,040.70	\$999.90	\$9,999.00
59	OVERSTORY TREE 6" CALIPER 18' MIN HT. ALL INCLUDED PER PLANS AND SPECS	1	EA	\$1,800.00	\$1,800.00	\$1,278.61	\$1,278.61	\$1,644.50	\$1,644.50
60	OVERSTORY TREE 3" CALIPER 16' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$700.00	\$2,800.00	\$577.11	\$2,308.44	\$1,039.50	\$4,158.00
61	OVERSTORY TREE 2" CALIPER 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$600.00	\$2,400.00	\$357.04	\$1,428.16	\$709.50	\$2,838.0
62	UNDERSTORY TREE 8' MIN HT. ALL INCLUDED PER PLANS AND SPECS	14	EA	\$700.00	\$9,800.00	\$511.78	\$7,164.92	\$1,155.00	\$16,170.0
63	UNDERSTORY TREE 5' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$450.00	\$4,500.00	\$402.04	\$4,020.40	\$825.00	\$8,250.0
64	SHRUB AREAS 1 GAL ALL INCLUDED PER PLANS AND SPECS	1,226	EA	\$15.00	\$18,390.00	\$23.39	\$28,676.14	\$25.30	\$31,017.8
65	SHRUB 7 GAL ALL INCLUDED PER PLANS AND SPECS	23	EA	\$118.00	\$2,714.00	\$89.47	\$2,057.81	\$220.00	\$5,060.0
66	SHRUB 3 GAL ALL INCLUDED PER PLANS AND SPECS	152	EA	\$56.00	\$8,512.00	\$62.46	\$9,493.92	\$91.20	\$13,862.4
67	SHRUB 1 GAL ALL INCLUDED PER PLANS AND SPECS	268	EA	\$27.00	\$7,236.00	\$27.35	\$7,329.80	\$25.96	\$6,957.2
68	GROUND COVER 1 QT ALL INCLUDED PER PLANS AND SPECS	16	EA	\$20.00	\$320.00	\$19.43	\$310.88	\$27.50	\$440.00
		TOTAL		\$1,083	3,786.00	\$1,115	,000.00	\$1,235	,271.21

				Ohmshiv Construction, LLC		Sol Construction LLC		Summit Construction & Development, LLC	
ITEM NO.	ITEM DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	WARRANTIES AND BONDS	1	LS	\$7,500.00	\$7,500.00	\$30,640.00	\$30,640.00	\$60,000.00	\$60,000.00
2	MOBILIZATION ALL INCLUDED PER PLANS AND SPECS	1	LS	\$5,500.00	\$5,500.00	\$5,858.00	\$5,858.00	\$52,250.00	\$52,250.00
3	TRAFFIC CONTROL (GDOT 150-1000)	1	LS	\$42,500.00	\$42,500.00	\$6,230.00	\$6,230.00	\$40,500.00	\$40,500.00
4	DEMOLITION. ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO HAUL OFF, RAIL, RAILROAD TIES, REMOVAL OF RAILROAD BALLAST, TREE REMOVAL, CONCRETE LOADING DOCK, INVASIVE REMOVAL & BRUSH CLEARING)	1	LS	\$85,000.00	\$85,000.00	\$100,600.00	\$100,600.00	\$171,446.39	\$171,446.39
5	GRADING COMPLETE (GDOT 210-0100)	1	LS	\$142,300.00	\$142,300.00	\$214,300.00	\$214,300.00	\$611,480.44	\$611,480.44
6	SURVEYING. ALL INCLUDED PER PLANS AND SPECS	1	LS	\$4,500.00	\$4,500.00	\$13,630.00	\$13,630.00	\$25,000.00	\$25,000.00
7	CONSTRUCT AND REMOVE CONSTRUCTION EXITS (GDOT 163-0301)	3	EA	\$1,850.00	\$5,550.00	\$2,320.00	\$6,960.00	\$2,200.00	\$6,600.00
8	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP (GDOT 163-0550)	1	EA	\$200.00	\$200.00	\$325.00	\$325.00	\$220.00	\$220.00
9	TEMPORARY SILT FENCE, TYPE A (GDOT 171-00010)	2,230	LF	\$2.50	\$5,575.00	\$2.80	\$6,244.00	\$1.48	\$3,300.40
10	TEMPORARY SILT FENCE, TYPE C (GDOT 171-00030)	400	LF	\$3.50	\$1,400.00	\$5.48	\$2,192.00	\$2.85	\$1,140.00
11	MAINTENANCE OF TEMPORARY SILT FENCE, TP A (GDOT 165-0010)	2,230	LF	\$1.00	\$2,230.00	\$0.70	\$1,561.00	\$0.20	\$446.00
12	MAINTENANCE OF TEMPORARY SILT FENCE, TP C (GDOT 165-0030)	400	LF	\$1.00	\$400.00	\$1.74	\$696.00	\$0.20	\$80.00
13	CONSTRUCT AND REMOVE COMPOST FILTER SOCK, 18 IN (GDOT 163-1930)	20	LF	\$15.00	\$300.00	\$19.00	\$380.00	\$15.00	\$300.00
14	MAINTENANCE OF COMPOST FILTER SOCK (ALL SIZES) (GDOT 165-1500)	20	LF	\$5.00	\$100.00	\$2.30	\$46.00	\$2.00	\$40.00
15	CLEARING & GRUBBING (GDOT 201-1500)	1	LS	\$5,500.00	\$5,500.00	\$7,540.00	\$7,540.00	\$25,000.00	\$25,000.00

16	BARRIER FENCE (ORANGE) 4FT (GDOT 643-8200)	3,294	LF	\$2.00	\$6,588.00	\$4.30	\$14,164.20	\$2.50	\$8,235.00
17	GR AGGR BASE CRS, 8 INCH, INCL MATL (GDOT 310-5080)	1,833	SY	\$16.00	\$29,328.00	\$16.00	\$29,328.00	\$20.00	\$36,660.00
18	GR AGGR BASE CRS, 4 INCH, INCL MATL (GDOT 310-5080)	27	SY	\$11.00	\$297.00	\$8.00	\$216.00	\$13.50	\$364.50
19	CONCRETE SIDEWALK, 6 IN (GDOT 441-0106) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	1,600	SY	\$52.00	\$83,200.00	\$63.53	\$101,648.00	\$64.00	\$102,400.00
20	CONCRETE SIDEWALK, 4 IN (GDOT 441-0104) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	40	SY	\$42.00	\$1,680.00	\$42.00	\$1,680.00	\$54.00	\$2,160.00
21	POROUS PVMT, CLASS 3 CONC. 6 IN THK (GDOT 439-0300) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	233	SY	\$97.00	\$22,601.00	\$111.00	\$25,863.00	\$74.00	\$17,242.00
22	CONCRETE HEADER CURB, 6 IN, TP 2 (GDOT 441-5002)	75	LF	\$22.00	\$1,650.00	\$20.00	\$1,500.00	\$20.00	\$1,500.00
23	BRICK PAVERS ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, MORTAR)	783	SF	\$27.00	\$21,141.00	\$15.80	\$12,371.40	\$18.00	\$14,094.00
24	STORM DRAIN PIPE, 18 IN H 1-10 (GDOT 550-1150)	380	LF	\$78.00	\$29,640.00	\$74.50	\$28,310.00	\$65.00	\$24,700.00
25	TRENCH DRAIN. ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE ENCASING, INLET/OUTLET (WALLS), BRACKETS	25	LF	\$260.00	\$6,500.00	\$332.00	\$8,300.00	\$450.00	\$11,250.00
26	STORM SEWER MANHOLE, TP 1 (GDOT 668-4300)	4	EA	\$6,500.00	\$26,000.00	\$5,075.00	\$20,300.00	\$5,000.00	\$20,000.00
27	CATCH BASIN, GP 1 (GDOT 668-1100)	1	EA	\$6,650.00	\$6,650.00	\$5,068.00	\$5,068.00	\$5,500.00	\$5,500.00
28	ADJUST MANHOLE TO GRADE (GDOT 611-8050)	1	EA	\$3,500.00	\$3,500.00	\$2,240.00	\$2,240.00	\$1,250.00	\$1,250.00
29	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9 (GDOT 636-1033)	15	SF	\$30.00	\$450.00	\$33.50	\$502.50	\$34.00	\$510.00
30	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11 (GDOT 636-1036)	50	SF	\$30.00	\$1,500.00	\$33.00	\$1,650.00	\$34.00	\$1,700.00
31	GALV STEEL POSTS, TP 7 (GDOT 636-2070)	110	LF	\$12.00	\$1,320.00	\$17.50	\$1,925.00	\$12.50	\$1,375.00
32	PREFORMED PLASTIC SOLID PVMT MKG, 8 IN, WHITE, TP PB (GDOT 657-1084)	100	LF	\$8.25	\$825.00	\$9.50	\$950.00	\$15.00	\$1,500.00
33	PREFORMED PLASTIC PAVEMENT MARKING, WORD TP 1, TP PB (GDOT 657-5003)	6	EA	\$1,650.00	\$9,900.00	\$1,860.00	\$11,160.00	\$500.00	\$3,000.00

34	PREFORMED PLASTIC SOLID PVMT MKG, 5 IN, YELLOW, TP PB (GDOT 657-6054)	120	LF	\$6.75	\$810.00	\$7.80	\$936.00	\$9.00	\$1,080.00
35	PREFORMED PLASTIC SKIP PVMT MKG 5 IN., YELLOW TP PB, TP PB (GDOT 657-8045)	1,000	LF	\$4.35	\$4,350.00	\$4.41	\$4,410.00	\$6.00	\$6,000.00
36	PREFORMED PAVEMENT MARKING, SYMBOL, TP 4 (GDOT 652-0094)	4	EA	\$285.00	\$1,140.00	\$328.00	\$1,312.00	\$750.00	\$3,000.00
37	WAYFIND SIGN ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES	2	EA	\$5,000.00	\$10,000.00	\$4,274.00	\$8,548.00	\$1,850.00	\$3,700.00
38	GRANITE RUBBLE WALL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION (2' BY 2.5' CYLINDRICAL), FINISHES	1	LS	\$5,000.00	\$5,000.00	\$17,000.00	\$17,000.00	\$12,500.00	\$12,500.00
39	BENCH (GDOT 754-5000)	2	EA	\$3,000.00	\$6,000.00	\$2,232.00	\$4,464.00	\$2,500.00	\$5,000.00
40	WASTE RECEPTACLES (GDOT 754-4000)	1	EA	\$3,750.00	\$3,750.00	\$2,539.00	\$2,539.00	\$3,800.00	\$3,800.00
41	HANDRAIL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES, PRIMER & PAINTING	150	LF	\$55.00	\$8,250.00	\$96.00	\$14,400.00	\$150.00	\$22,500.00
42	ORNAMENTAL FENCE (GDOT 643-8300)	425	LF	\$50.00	\$21,250.00	\$78.88	\$33,524.00	\$150.00	\$63,750.00
43	LIGHTING POLE ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, LUMINARE, WIRING, CONDUITS, CONNECTIONSCITY WILL PROVIDE TP 2 PULL BOXES, CONTRACTOR TO INSTALL.	13	EA	\$10,500.00	\$136,500.00	\$11,595.00	\$150,735.00	\$6,998.00	\$90,974.00
44	CABLE, TP RHH/RHW, AWG NO 12 (GDOT 682-1503)	960	LF	\$0.85	\$816.00	\$1.00	\$960.00	\$1.88	\$1,804.80
45	CABLE, TP RHH/RHW, AWG NO 6 (GDOT 682-1506)	2,755	LF	\$2.35	\$6,474.25	\$2.70	\$7,438.50	\$2.45	\$6,749.75
46	CABLE, TP RHH/RHW, AWG NO 1 (GDOT 682-1510)	15	LF	\$5.75	\$86.25	\$6.50	\$97.50	\$45.00	\$675.00
47	CONDUIT, NONMETAL, TP-2, 1 IN (GDOT 682-6235)	1,160	LF	\$9.25	\$10,730.00	\$10.50	\$12,180.00	\$18.00	\$20,880.00
48	CONDUIT, NONMETAL, TP-2, 3 IN ALL INCLUDED PER PLANS AND SPECS	55	LF	\$78.00	\$4,290.00	\$89.00	\$4,895.00	\$65.00	\$3,575.00
49	DIRECTIONAL BORE - 3 INCH (GDOT 682-9950)	55	LF	\$16.25	\$893.75	\$18.50	\$1,017.50	\$27.00	\$1,485.00
50	DETECTABLE WARNING SURFACE (GDOT 999-5200)	60	SF	\$25.00	\$1,500.00	\$45.65	\$2,739.00	\$20.00	\$1,200.00
51	SOD (GDOT 700-9300)	1,762	SY	\$8.50	\$14,977.00	\$9.00	\$15,858.00	\$12.50	\$22,025.00
52	MULCH (GDOT 163-0240)	12	TN	\$450.00	\$5,400.00	\$579.00	\$6,948.00	\$500.00	\$6,000.00
53	AGRICULTURAL LIME (GDOT 700-7000)	1.15	TN	\$250.00	\$287.50	\$667.00	\$767.05	\$500.00	\$575.00

54	FERTILIZER MIXED GRADE (GDOT 700-8000)	0.2	TN	\$500.00	\$100.00	\$1,267.00	\$253.40	\$100.00	\$20.00
55	FERTILIZER NITROGEN CONTENT (GDOT 700-8100)	29	LB	\$4.00	\$116.00	\$2.00	\$58.00	\$2.50	\$72.50
56	EROSION CONTROL MATS, SLOPES (GDOT 716-2000)	1,230	SY	\$2.00	\$2,460.00	\$1.50	\$1,845.00	\$2.50	\$3,075.00
57	WEED CONTROL (GDOT 725-0010)	1	LS	\$2,500.00	\$2,500.00	\$5,800.00	\$5,800.00	\$3,500.00	\$3,500.00
58	EVERGREEN TREE 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$1,000.00	\$10,000.00	\$1,305.00	\$13,050.00	\$3,500.00	\$35,000.00
59	OVERSTORY TREE 6" CALIPER 18' MIN HT. ALL INCLUDED PER PLANS AND SPECS	1	EA	\$1,000.00	\$1,000.00	\$1,915.00	\$1,915.00	\$2,500.00	\$2,500.00
60	OVERSTORY TREE 3" CALIPER 16' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$1,000.00	\$4,000.00	\$757.00	\$3,028.00	\$2,000.00	\$8,000.00
61	OVERSTORY TREE 2" CALIPER 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$850.00	\$3,400.00	\$420.00	\$1,680.00	\$2,500.00	\$10,000.00
62	UNDERSTORY TREE 8' MIN HT. ALL INCLUDED PER PLANS AND SPECS	14	EA	\$850.00	\$11,900.00	\$456.00	\$6,384.00	\$2,000.00	\$28,000.00
63	UNDERSTORY TREE 5' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$750.00	\$7,500.00	\$276.00	\$2,760.00	\$2,000.00	\$20,000.00
64	SHRUB AREAS 1 GAL ALL INCLUDED PER PLANS AND SPECS	1,226	EA	\$20.00	\$24,520.00	\$15.00	\$18,390.00	\$25.00	\$30,650.00
65	SHRUB 7 GAL ALL INCLUDED PER PLANS AND SPECS	23	EA	\$70.00	\$1,610.00	\$89.00	\$2,047.00	\$100.00	\$2,300.00
66	SHRUB 3 GAL ALL INCLUDED PER PLANS AND SPECS	152	EA	\$50.00	\$7,600.00	\$48.00	\$7,296.00	\$90.00	\$13,680.00
67	SHRUB 1 GAL ALL INCLUDED PER PLANS AND SPECS	268	EA	\$20.00	\$5,360.00	\$15.70	\$4,207.60	\$90.00	\$24,120.00
68	GROUND COVER 1 QT ALL INCLUDED PER PLANS AND SPECS	16	EA	\$25.00	\$400.00	\$13.00	\$208.00	\$70.00	\$1,120.00
		TOTAL		\$886,	295.75	\$1,024	,068.65	\$1,710	,554.78

				Surfaces G	Group, LLC	Tri Scaj	pes, LLC	Wilson Construction Management, LLC	
ITEM NO.	ITEM DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	WARRANTIES AND BONDS	1	LS	\$29,997.38	\$29,997.38	\$20,368.48	\$20,368.48	\$15,000.00	\$15,000.00
2	MOBILIZATION ALL INCLUDED PER PLANS AND SPECS	1	LS	\$119,933.82	\$119,933.82	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00
3	TRAFFIC CONTROL (GDOT 150-1000)	1	LS	\$75,688.82	\$75,688.82	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00
4	DEMOLITION . ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO HAUL OFF, RAIL, RAILROAD TIES, REMOVAL OF RAILROAD BALLAST, TREE REMOVAL, CONCRETE LOADING DOCK, INVASIVE REMOVAL & BRUSH CLEARING)	1	LS	\$186,571.92	\$186,571.92	\$38,053.50	\$38,053.50	\$50,000.00	\$50,000.00
5	GRADING COMPLETE (GDOT 210-0100)	1	LS	\$329,035.31	\$329,035.31	\$209,967.54	\$209,967.54	\$251,231.50	\$251,231.50
6	SURVEYING. ALL INCLUDED PER PLANS AND SPECS	1	LS	\$19,353.15	\$19,353.15	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00
7	CONSTRUCT AND REMOVE CONSTRUCTION EXITS (GDOT 163-0301)	3	EA	\$3,509.03	\$10,527.09	\$3,600.00	\$10,800.00	\$2,500.00	\$7,500.00
8	CONSTRUCT AND REMOVE INLET SEDIMENT TRAP (GDOT 163-0550)	1	EA	\$897.66	\$897.66	\$336.00	\$336.00	\$280.00	\$280.00
9	TEMPORARY SILT FENCE, TYPE A (GDOT 171-00010)	2,230	LF	\$8.38	\$18,687.40	\$2.88	\$6,422.40	\$2.50	\$5,575.00
10	TEMPORARY SILT FENCE, TYPE C (GDOT 171-00030)	400	LF	\$9.25	\$3,700.00	\$5.82	\$2,328.00	\$5.00	\$2,000.00
11	MAINTENANCE OF TEMPORARY SILT FENCE, TP A (GDOT 165-0010)	2,230	LF	\$4.61	\$10,280.30	\$1.08	\$2,408.40	\$0.90	\$2,007.00
12	MAINTENANCE OF TEMPORARY SILT FENCE, TP C (GDOT 165-0030)	400	LF	\$5.92	\$2,368.00	\$2.28	\$912.00	\$2.00	\$800.00
13	CONSTRUCT AND REMOVE COMPOST FILTER SOCK, 18 IN (GDOT 163-1930)	20	LF	\$50.51	\$1,010.20	\$19.50	\$390.00	\$16.50	\$330.00
14	MAINTENANCE OF COMPOST FILTER SOCK (ALL SIZES) (GDOT 165-1500)	20	LF	\$50.51	\$1,010.20	\$2.28	\$45.60	\$2.00	\$40.00
15	CLEARING & GRUBBING (GDOT 201-1500)	1	LS	\$59,380.98	\$59,380.98	\$90,000.00	\$90,000.00	\$27,800.00	\$27,800.00
16	BARRIER FENCE (ORANGE) 4FT (GDOT 643-8200)	3,294	LF	\$7.50	\$24,705.00	\$4.38	\$14,427.72	\$3.50	\$11,529.00
17	GR AGGR BASE CRS, 8 INCH, INCL MATL (GDOT 310-5080)	1,833	SY	\$47.68	\$87,397.44	\$19.53	\$35,798.49	\$20.00	\$36,660.00
18	GR AGGR BASE CRS, 4 INCH, INCL MATL (GDOT 310-5080)	27	SY	\$29.79	\$804.33	\$12.00	\$324.00	\$15.50	\$418.50
19	CONCRETE SIDEWALK, 6 IN (GDOT 441-0106) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	1,600	SY	\$110.47	\$176,752.00	\$88.13	\$141,008.00	\$72.00	\$115,200.00

20	CONCRETE SIDEWALK, 4 IN (GDOT 441-0104) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	40	SY	\$95.65	\$3,826.00	\$67.50	\$2,700.00	\$46.00	\$1,840.00
21	POROUS PVMT, CLASS 3 CONC. 6 IN THK (GDOT 439-0300) INCLUDE FINISHING AND EXPANSION/CONTROL JOINTS	233	SY	\$130.99	\$30,520.67	\$110.63	\$25,776.79	\$82.00	\$19,106.00
22	CONCRETE HEADER CURB, 6 IN, TP 2 (GDOT 441-5002)	75	LF	\$59.62	\$4,471.50	\$26.25	\$1,968.75	\$21.00	\$1,575.00
23	BRICK PAVERS ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, MORTAR)	783	SF	\$33.38	\$26,136.54	\$15.38	\$12,042.54	\$26.00	\$20,358.00
24	STORM DRAIN PIPE, 18 IN H 1-10 (GDOT 550-1150)	380	LF	\$117.81	\$44,767.80	\$78.84	\$29,959.20	\$75.00	\$28,500.00
25	TRENCH DRAIN. ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE ENCASING, INLET/OUTLET (WALLS), BRACKETS	25	LF	\$393.23	\$9,830.75	\$645.00	\$16,125.00	\$2,289.00	\$57,225.00
26	STORM SEWER MANHOLE, TP 1 (GDOT 668-4300)	4	EA	\$8,463.11	\$33,852.44	\$4,875.00	\$19,500.00	\$4,000.00	\$16,000.00
27	CATCH BASIN, GP 1 (GDOT 668-1100)	1	EA	\$7,947.00	\$7,947.00	\$3,562.50	\$3,562.50	\$4,000.00	\$4,000.00
28	ADJUST MANHOLE TO GRADE (GDOT 611-8050)	1	EA	\$3,093.07	\$3,093.07	\$945.00	\$975.00	\$3,609.00	\$3,609.00
29	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9 (GDOT 636-1033)	15	SF	\$48.72	\$730.80	\$36.00	\$540.00	\$45.00	\$675.00
30	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11 (GDOT 636-1036)	50	SF	\$47.01	\$2,350.50	\$36.00	\$1,800.00	\$45.00	\$2,250.00
31	GALV STEEL POSTS, TP 7 (GDOT 636-2070)	110	LF	\$32.48	\$3,572.80	\$14.40	\$1,584.00	\$15.00	\$1,650.00
32	PREFORMED PLASTIC SOLID PVMT MKG, 8 IN, WHITE, TP PB (GDOT 657-1084)	100	LF	\$13.20	\$1,320.00	\$9.84	\$984.00	\$8.50	\$850.00
33	PREFORMED PLASTIC PAVEMENT MARKING, WORD TP 1, TP PB (GDOT 657-5003)	6	EA	\$699.63	\$4,197.78	\$520.80	\$3,124.80	\$1,599.00	\$9,594.00
34	PREFORMED PLASTIC SOLID PVMT MKG, 5 IN, YELLOW, TP PB (GDOT 657-6054)	120	LF	\$10.80	\$1,296.00	\$8.04	\$964.80	\$6.70	\$804.00
35	PREFORMED PLASTIC SKIP PVMT MKG 5 IN., YELLOW TP PB, TP PB (GDOT 657-8045)	1,000	LF	\$6.13	\$6,130.00	\$4.56	\$4,560.00	\$4.00	\$4,000.00
36	PREFORMED PAVEMENT MARKING, SYMBOL, TP 4 (GDOT 652-0094)	4	EA	\$455.94	\$1,823.76	\$339.60	\$1,358.40	\$283.00	\$1,132.00
37	WAYFIND SIGN ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES	2	EA	\$0.00	\$0.00	\$1,800.00	\$3,600.00	\$2,500.00	\$5,000.00
38	GRANITE RUBBLE WALL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION (2' BY 2.5' CYLINDRICAL), FINISHES	1	LS	\$14,485.55	\$14,485.55	\$16,800.00	\$16,800.00	\$7,005.00	\$7,005.00
39	BENCH (GDOT 754-5000)	2	EA	\$1,921.45	\$3,842.90	\$2,625.00	\$5,250.00	\$2,500.00	\$5,000.00
40	WASTE RECEPTACLES (GDOT 754-4000)	1	EA	\$2,890.32	\$2,890.32	\$3,562.50	\$3,562.50	\$3,000.00	\$3,000.00

41	HANDRAIL ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO CONCRETE FOUNDATION, FINISHES, PRIMER & PAINTING	150	LF	\$877.36	\$131,604.00	\$108.00	\$16,200.00	\$150.00	\$22,500.00
42	ORNAMENTAL FENCE (GDOT 643-8300)	425	LF	\$48.39	\$20,565.75	\$60.00	\$25,500.00	\$40.00	\$17,000.00
43	LIGHTING POLE ALL INCLUDED PER PLANS AND SPECS INCLUDING BUT NOT LIMITED TO FOUNDATION, LUMINARE, WIRING, CONDUITS, CONNECTIONSCITY WILL PROVIDE TP 2 PULL BOXES, CONTRACTOR TO INSTALL.	13	EA	\$16,329.22	\$212,279.86	\$7,200.00	\$93,600.00	\$6,825.00	\$88,725.00
44	CABLE, TP RHH/RHW, AWG NO 12 (GDOT 682-1503)	960	LF	\$2.26	\$2,169.60	\$1.92	\$1,843.20	\$2.00	\$1,920.00
45	CABLE, TP RHH/RHW, AWG NO 6 (GDOT 682-1506)	2,755	LF	\$3.71	\$10,221.05	\$2.40	\$6,612.00	\$2.50	\$6,887.50
46	CABLE, TP RHH/RHW, AWG NO 1 (GDOT 682-1510)	15	LF	\$32.26	\$483.90	\$4.80	\$72.00	\$45.00	\$675.00
47	CONDUIT, NONMETAL, TP-2, 1 IN (GDOT 682-6235)	1,160	LF	\$21.37	\$24,789.20	\$13.20	\$15,312.00	\$16.00	\$18,560.00
48	CONDUIT, NONMETAL, TP-2, 3 IN ALL INCLUDED PER PLANS AND SPECS	55	LF	\$120.96	\$6,652.80	\$17.16	\$943.80	\$45.00	\$2,475.00
49	DIRECTIONAL BORE - 3 INCH (GDOT 682-9950)	55	LF	\$120.96	\$6,652.80	\$6.00	\$330.00	\$25.00	\$1,375.00
50	DETECTABLE WARNING SURFACE (GDOT 999-5200)	60	SF	\$63.67	\$3,820.20	\$84.38	\$5,062.80	\$65.00	\$3,900.00
51	SOD (GDOT 700-9300)	1,762	SY	\$14.44	\$25,443.28	\$8.42	\$14,836.04	\$7.50	\$13,215.00
52	MULCH (GDOT 163-0240)	12	TN	\$815.73	\$9,788.76	\$558.00	\$6,696.00	\$465.00	\$5,580.00
53	AGRICULTURAL LIME (GDOT 700-7000)	1.15	TN	\$3,485.59	\$4,008.43	\$660.00	\$759.00	\$550.00	\$632.50
54	FERTILIZER MIXED GRADE (GDOT 700-8000)	0.2	TN	\$5,472.75	\$1,094.55	\$1,260.00	\$252.00	\$1,500.00	\$300.00
55	FERTILIZER NITROGEN CONTENT (GDOT 700-8100)	29	LB	\$19.85	\$575.65	\$6.00	\$174.00	\$2.50	\$72.50
56	EROSION CONTROL MATS, SLOPES (GDOT 716-2000)	1,230	SY	\$3.40	\$4,182.00	\$1.56	\$1,918.80	\$1.50	\$1,845.00
57	WEED CONTROL (GDOT 725-0010)	1	LS	\$8,063.81	\$8,063.81	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
58	EVERGREEN TREE 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$1,466.81	\$14,668.10	\$787.50	\$7,875.00	\$2,000.00	\$20,000.00
59	OVERSTORY TREE 6" CALIPER 18" MIN HT. ALL INCLUDED PER PLANS AND SPECS	1	EA	\$3,437.41	\$3,437.41	\$1,865.63	\$1,865.63	\$2,000.00	\$2,000.00
60	OVERSTORY TREE 3" CALIPER 16' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$1,551.48	\$6,205.92	\$834.38	\$3,337.52	\$1,800.00	\$7,200.00
61	OVERSTORY TREE 2" CALIPER 12' MIN HT. ALL INCLUDED PER PLANS AND SPECS	4	EA	\$764.45	\$3,057.80	\$403.13	\$1,612.52	\$1,500.00	\$6,000.00
62	UNDERSTORY TREE 8' MIN HT. ALL INCLUDED PER PLANS AND SPECS	14	EA	\$935.40	\$13,095.60	\$496.88	\$6,956.32	\$1,500.00	\$21,000.00
63	UNDERSTORY TREE 5' MIN HT. ALL INCLUDED PER PLANS AND SPECS	10	EA	\$558.02	\$5,580.20	\$305.63	\$3,056.30	\$1,000.00	\$10,000.00
64	SHRUB AREAS 1 GAL ALL INCLUDED PER PLANS AND SPECS	1,226	EA	\$23.31	\$28,578.06	\$12.75	\$15,631.50	\$25.00	\$30,650.00

65	SHRUB 7 GAL ALL INCLUDED PER PLANS AND SPECS	23	EA	\$147.37	\$3,389.51	\$80.63	\$1,854.49	\$200.00	\$4,600.00
66	SHRUB 3 GAL ALL INCLUDED PER PLANS AND SPECS	152	EA	\$106.25	\$16,150.00	\$58.13	\$8,835.76	\$150.00	\$22,800.00
67	SHRUB 1 GAL ALL INCLUDED PER PLANS AND SPECS	268	EA	\$26.74	\$7,166.32	\$14.63	\$3,920.84	\$25.00	\$6,700.00
68	GROUND COVER 1 QT ALL INCLUDED PER PLANS AND SPECS	16	EA	\$12.15	\$194.40	\$6.66	\$106.56	\$50.00	\$800.00
	тот		L \$1,939),106.14	\$997,992.49		\$1,075,956.50	

Recommended Vendor:

Ohmshiv Construction, LLC 805 Progress Court, Suite A Lawrenceville, GA 30043 P: 404-987-0020 naresh@ohmshiv.com